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Recall Corollary to FLT: If pfaandr =s mod p—1
then a" = a® mod p-

Last Time: Let p be a prime, e an integer satisfying
l<e<p-—1 and ged(e,p—1) = 1.
Let d be an integer such that
l<d<p-—1 and ed=1 modp-—1

Let M be an integer between 0 and p—1 inclusive. Compute
C' an integer satisfying

0<C<p and C =M mod p.

and let R = C? mod p be an integer with 0 < R <p — 1.
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Proposition 1: R = M mod p.
Corollary: R = M
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letp=2 . g=1land e=3
1. Compute n, ¢(n) and d.
2. Compute C' = M® mod n when M =8
3. Compute M = C? mod n when C =6
L n=22 @)= A1) (0
3d=z| modlO
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